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_. ADDITIONS
A
Solve by arranging 5 objects in each group and do addition of the following
problems.

1) Tony saw 11 birds on the tree. He saw 4 pigeons and the remaining are
sparrows. How many sparrows are there?
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There are ___ sparrows are there.

2) Roger has 15 party hats. He gave 7 party hats to friends. How many hats are
left?
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__ party hats are left with Roger.

3) Steve made 13 soft toys. He lost some toys. Now he is left with only 11 toys.
How many toys are lost?
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4) Frank made 15 cookies. He made 9 chocochip cookies and some butter cookies.
How many butter cookies Frank made?
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Frank made __ butter cookies.
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